


NSK uses bearing reference for hub unit bearings clarifying boundary dimensions, types, and specification 

codes. Below are examples of bearing reference:

HUB II

Hub Unit Bearings

Hub unit bearings for automobile wheels are comprised of bearing rings, rolling elements, and cages, similar to general-
purpose rolling bearings. 

Types of Hub Unit Bearings

HUB III
NSK uses bearing reference for hub unit bearings clarifying boundary dimensions, types, and specification 

codes. Below are examples of bearing reference:

BWK (Ball bearings) for non-driven wheels

BWKH (Ball bearings) for non-driven wheels

KWH (Tapered roller bearings) for non-driven and driven wheels

BWKH (Ball bearings) for driven wheels

32



MODEL / TYPE (Information) YEAR ORIGINAL No.-1 ORIGINAL No.-2 NSK No. REFERENCE
PAGE

AUDI
A3

PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2003/03-2013/12 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2003/03-2013/12
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2003/03-2013/12 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2003/03-2013/12
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

A4

MLB 2007/10-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

A4 Allroad

MLB 2009/03-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

A5

MLB 2007/01-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

A5 Cabrio

MLB 2008/11-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

A5 Sportback

MLB 2009/07-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

A8

MLB 2010/01-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

Q5

MLB 2008/09-
8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ ZA-62BWK01W-Y-B-01 E 8

TT
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2006/06- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2006/06-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2006/06- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2006/06-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

BMW
MINI

R50 (M14*1.25), R56, R57 － 6 776 671 － ZA-62BWKH01E-Y--01 E 10
R50 (M12*1.5) － 6 756 830 － ZA-49BWKH22B-Y--01 E 10

GM
CHEVY EQUINOX

Unknown (Less ABS) － 02042K2078 － ZA-68BWKH02D-Y-01  F 10

Unknown (With ABS) － 0204292072 
02042K2077 － ZA-68BWKHS01E-Y-01 F 10

Unknown (Less ABS) － 02042L2235 － ZA-60BWKH06L-Y-01  F 10
Unknown (With ABS) － 02042L2234 － ZA-60BWKHS01L-Y-01 F 10

SATURN VUE
Unknown (Less ABS) － 02042K2078 － ZA-68BWKH02D-Y-01  F 10

Unknown (With ABS) － 0204292072 
02042K2077 － ZA-68BWKHS01E-Y-01 F 10

Unknown (Less ABS) － 02042L2235 － ZA-60BWKH06L-Y-01  F 10
Unknown (With ABS) － 02042L2234 － ZA-60BWKHS01L-Y-01 F 10

HONDA
Accord

Unknown (91M) － 44200-SM4-013 － ZA-43BWK03D-Y-2CA-01 8
Unknown (91M, USA) － 44200-SL5-003 － ZA-43BWK04-Y-2CA2-01 8

MITSUBISHI
PAJERO

BK (Short Body + 16 inch Brake) 2006/09- 3885A013 － ZA-/HO/50KWH01M-Y-01 8
BK (Long body, 17 inch brake) 2006/09- 3885A014 － ZA-/HO/52KWH01-Y--01 8
CK 1999/07-2006/12 3885A013 － ZA-/HO/50KWH01M-Y-01 8

NISSAN
CARAVAN

E25 2001/04-2011/10 40210-VW610 － ZA-/HO/51KWH01N-Y-01 8

MODEL / TYPE (Information) YEAR ORIGINAL No.-1 ORIGINAL No.-2 NSK No. REFERENCE
PAGE

ELGRAND

E51 2002/05-2010/08 40210-WL000 
40210-WL020 － ZA-/HO/51KWH01R-Y-01 8

E51 2002/05-2010/08 43210-WL000 － ZA-/HO/50KWH02A-Y-01 8
URVAN

E25 2001/07-2011/10 40210-VW610 － ZA-/HO/51KWH01N-Y-01 8
PSA

EXPERT

G9 (DISK BRAKE) 2006/10- 1401393280 
1440088280 － ZA-56BWKH06J-Y--01 E 10

G9 (DRUM BRAKE) 2006/10- 1400199280 
1401393480 － ZA-56BWKH05D-Y--01 E 10

JUMPY

G9 (DISK BRAKE) 2006/10- 1401393280 
1440088280 － ZA-56BWKH06J-Y--01 E 10

G9 (DRUM BRAKE) 2006/10- 1400199280 
1401393480 － ZA-56BWKH05D-Y--01 E 10

SEAT
ALTEA

PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2004/03- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2004/03-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2004/03- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2004/03-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

ALTEA XL
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2004/03- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2004/03-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2004/03- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2004/03-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

LEON
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2005/05-2012/10 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2005/05-2012/10
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2005/05-2012/10 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2005/05-2012/10
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

TOLEDO
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2004/09-2010/06 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2004/09-2010/06
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2004/09-2010/06 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2004/09-2010/06
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

SKODA
OCTAVIA

PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2004/04-2013/07 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2004/04-2013/07
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2004/04-2013/07 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2004/04-2013/07
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

SUPERB
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2008/04- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2008/04-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2008/04- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

54

Classification by vehicle modelClassification by vehicle model



MODEL / TYPE (Information) YEAR ORIGINAL No.-1 ORIGINAL No.-2 NSK No. REFERENCE
PAGE

PQ35/PQ36 (4WD) 2008/04-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

YETI
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2009/06- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2009/06-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2009/06- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2009/06-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

TOYOTA
CALDINA (JP)

CT190, ST190, 191 
(FF, Less ABS, Drum Brake) 1992/11-2002/06 42409-20020 42409-20010 ZA-30BWK10-G-3-Y--01 8

CARINA FF (JP)
AT19#, CT190, ST190 
(FF, Less ABS, Drum Brake) 1992/08-1996/08 42409-20020 42409-20010 ZA-30BWK10-G-3-Y--01 8

COROLLA (JP)

AE91, AE92 (Less ABS), CE90, EE90 1987/05-1992/05 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

AE100, 101, 110, 111, CE100, 110, 113, 
EE101, 111 1991/06-2002/06 42409-12020 (Without NUT) 

42409-19015 (With NUT)
42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

COROLLA CERES (JP)

AE10# 1991/06-1998/08 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

COROLLA LEVIN (JP)

AE10# 1991/06-1998/08 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

AE9# (Less ABS) 1987/05-1991/06 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

CORONA (JP)
AT190, CT190, ST190, ST191 
(FF, Less ABS, Drum Brake) 1992/02-1996/01 42409-20020 42409-20010 ZA-30BWK10-G-3-Y--01 8

FJ CRUISER (JP)

GSJ15 2010/11-
43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011 ZA-54KWH01M-Y-2CA-01 8

GAIA (JP)
ACM15, SXM15 (4WD) 1998/05-2004/09 42409-42010 － ZA-38BWK01J-Y-2CA-01 8

HIACE (JP)
KDH20#, 211, 22#, TRH200, 21#, 221, 
223, 224, 226, 228 2004/08- 43560-26010 － ZA-54KWH02D-Y-2CA-01 8

HILUX SURF (JP)

KDN215, RZN210, 215, TRN210, 215, 
VZN210, 215, GRN215 2002/11-2009/08

43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011 ZA-54KWH01M-Y-2CA-01 8

IPSUM (JP)
SXM15 (4WD) 1996/05-2001/05 42409-42010 － ZA-38BWK01J-Y-2CA-01 8

LANDCRUISER PRADO (JP)

RZJ12#, TRJ12#, KDJ120, 121, 125, 
GRJ12#, VZJ12# 2002/09-2009/08

43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011 ZA-54KWH01M-Y-2CA-01 8

TRJ150, GRJ150, 151 2009/08-
43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011 ZA-54KWH01M-Y-2CA-01 8

LEXUS GX

Unknown 2002-2009
43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011 ZA-54KWH01R-Y-2CA-01 8

NADIA (JP)
ACN15, SXN15 (4WD) 1998/07-2003/07 42409-42010 － ZA-38BWK01J-Y-2CA-01 8

QUANTUM
Unknown － 43560-26010 － ZA-54KWH02D-Y-2CA-01 8

RAV4 (JP)
SXA10, 11 (4WD) 1994/04-2000/05 42409-42010 － ZA-38BWK01J-Y-2CA-01 8

REGIUSACE (JP)
KDH20#, 211, 22#, TRH200, 21#, 221, 
223, 224, 226, 228 2004/08- 43560-26010 － ZA-54KWH02D-Y-2CA-01 8

SEPTER SEDAN (JP)

SXV10, VCV10 1992/11-1994/08 42409-33010 
42409-33030 42409-33020 ZA-30BWK17A-Y-2CP-01 8

SPRINTER (JP)

AE91, AE92 (Less ABS), CE90, EE90 1987/05-1991/08 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

AE100, 101, 110, 111, CE100, 110, 113, 
EE101, 111 1991/06-2002/06 42409-12020 (Without NUT) 

42409-19015 (With NUT)
42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

MODEL / TYPE (Information) YEAR ORIGINAL No.-1 ORIGINAL No.-2 NSK No. REFERENCE
PAGE

SPRINTER CARIB (JP)

AE111 (FF) 1995/08-2002/07 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

SPRINTER MARINO (JP)

AE10# 1991/06-1998/08 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

SPRINTER TRUENO (JP)

AE10# 1991/06-1998/08 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

AE9# (Less ABS) 1987/05-1991/06 42409-12020 (Without NUT) 
42409-19015 (With NUT)

42421-19015 
42421-19025

ZA-28BWK12-Y-CP4*01 
 (Without NUT) 8

SUPER GRANDIA
KDH201V/K, KDH206V/K － 43560-26010 － ZA-54KWH02D-Y-2CA-01 8

TACOMA (USA)

Unknown (4WD) 2004/10-
43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011 ZA-54KWH01R-Y-2CA-01 8

WINDOM (JP)

VCV1# 1991/10-1996/08 42409-33010 
42409-33030 42409-33020 ZA-30BWK17A-Y-2CP-01 8

VOLKSWAGEN
CADDY VAN

PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2004/01- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2004/01-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2004/01- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2004/01-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

Car name is unknown.
MQB1 － 5Q0 407 621 B － ZA-57BWKH04E2-Y-01 E 10
MQB2 － 5Q0 407 621 A － ZA-60BWKH15A-Y--01 E 10

MQB1 (FF) － 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

GOLF
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2003/10- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2003/10-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2003/10- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2003/10-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

GOLF PLUS
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2004/12- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2004/12-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2004/12- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2004/12-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

SCIROCCO
PQ35/PQ36 
(FF, For All until 1,9 l Diesel-Engine and < 77kw) 2008/06- 1K0 407 621E － ZA-57BWKH04D1-Y-01 E 10

PQ35/PQ36 (For All > 77kw) 2008/06-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2008/06- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2008/06-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

TOURAN

PQ35/PQ36 (For All > 77kw) 2003/01-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

PQ35/PQ36 (FF) 2003/01- 1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF) ZA-30BWK26-Y-A2-01 E 8

PQ35/PQ36 (4WD) 2003/01-
1KO 407 621C [EU] 
1KO 407 621G [US] 

1KO 407 621  [CHINA]
－ ZA-60BWKH07R3-Y-01 E 10

76

Classification by vehicle modelClassification by vehicle model



BEARING
TYPE NSK No. ORIGINAL

No.-1
ORIGINAL

No.-2
Dra-
wing
Type

MAKER MODEL / TYPE (Information) POSITION BOUNDARY DIMENSIONS (mm) N2 SEAL 
INTEGRAL

TYPE
ABS

SENSOR
MASS 
(kg)

(approx)d D B b rx 
(min)

ry 
(min) Dr d2 Ph T Bi Pt Ba Df Dw Pb

BWK
ZA-30BWK21D-Y-A-01 E 
ZA-30BWK26-Y-A2-01 E

1K0 501 611 G 
1K0 501 611 S

1K0 598 611 
 (KIT, SKF)

A
VOLKS
WAGEN

PQ35/PQ36 (FF)
 AUDI : A3 , TT
 SEAT : ALTEA , ALTEA XL , LEON , TOLEDO
 SKODA : OCTAVIA , SUPERB , YETI
 VW : �C A D D Y  VA N  ,  G O L F  ,  G O L F  P L U S  , 

SCIROCCO , TOURAN
MQB1 (FF, Car name is unknown.)

R 30 (67.4) 67.8 20.5 4 2.5 － － － － 19 － 48.8 136.5 57 112 5 Yes encoder 1.09 

BWK
ZA-28BWK12-Y-CP4*01 

 (Without NUT)

42409-12020 
 (Without NUT) 
42409-19015 
 (With NUT)

42421-19015 
42421-19025

B TOYOTA

COROLLA/SPRINTER (AE91, AE92 (Less ABS), 
CE90, EE90, AE100, 101, 110, 111, CE100, 110, 
113, EE101, 111), LEVIN / TRUENO (AE9# (Less 
ABS), LEVIN / CERES / TRUENO / MARINO (AE10#), 
SPRINTER CARIB (AE111)

R 28 65 51.8 21 3.6 3.6 (73) 61 97 － － － － － － － 4 Yes － 1.05 

BWK ZA-30BWK10-G-3-Y--01 42409-20020 42409-20010 B TOYOTA

CARINA FF (AT19#, CT190, ST190 : 2WD (FF), Less 
ABS, Drum Brake)
CORONA (AT190, CT190, ST190, ST191 : 2WD(FF), 
Less ABS, Drum Brake, EX-Saloon, GX, Select-
Saloon, TYPE1)
CALDINA (CT190, ST190, 191 : 2WD (FF), Less ABS, 
Drum Brake)

R 30 66 51.8 21 3.6 3.6 75 63 99 － － － － － － － 4 Yes － 1.02 

BWK ZA-30BWK17A-Y-2CP-01
42409-33010 
42409-33030

42409-33020 B TOYOTA WINDOM (VCV1#), SEPTER Sedan (SXV10, VCV10) R 30 66 51.8 21 3.6 3.6 75 63 99 － － － － － － － 4 Yes － 1.20 

BWK ZA-38BWK01J-Y-2CA-01 42409-42010 － C TOYOTA
IPSUM (SXM15), NADIA (ACN15, SXN15), GAIA 
(ACM15, SXM15), RAV4 (SXA10, 11)

R 38 87.4 58 18 3.5 3.5 － － － 10 3.2 106 － － － － 4 Yes － 1.35 

BWK ZA-43BWK03D-Y-2CA-01 44200-SM4-013 － C HONDA 91M Accord F 43 83 42.5 22 5 3.5 － － － 14 16.5 102 － － － － 4 Yes － 1.22 

BWK ZA-43BWK04-Y-2CA2-01 44200-SL5-003 － C HONDA 91M Accord For the United States F 43 83 47.5 24.5 5 3.5 － － － 14 21.5 102 － － － － 4 Yes － 1.35 

BWK
ZA-62BWK01J-Y-2-01 E 
ZA-62BWK01N-Y-2-01 E

8K0 407 625 A 
8K0 407 625 E 
8K0 407 625 G

－ C Audi

A4 (AU481, MLB), A4 Allroad (AU486, MLB), 
A5 (AU484, MLB), A5 Cabrio (AU485, MLB), A5 
Sportback (AU483, MLB), A8 (AU641, MLB), Q5 
(AU416, MLB)

F 61 102 40.5
15

+25.5
4 3.2 － － － 11.5 16.5 126 － － － － 4 Yes encoder 1.47 

KWH ZA-/HO/50KWH01M-Y-01 3885A013 － D MITSUBISHI PAJERO (CK), PAJERO (BK : Short Body + 16 inch Brake) F 50 86 55 27.5 5.5 5.5 － － － 12 32 112 － － － － 4 Yes － 1.50 

KWH
ZA-/HO/50KWH02-Y--01 (old) 
ZA-/HO/50KWH02A-Y-01

43210-WL000 － D NISSAN ELGRAND (E51) R 50 84 55 27.5 3.5 3.5 － － － 15 11 107 － － － － 4 Yes － 1.50 

KWH ZA-/HO/51KWH01N-Y-01 40210-VW610 － D NISSAN Caravan / Urvan (E25, -2011/10) F 51 87 55 27.5 5 5 － － － 15.5 19.5 112 － － － － 4 Yes － 1.73 

KWH
ZA-/HO/51KWH01M-JB01 (old) 
ZA-/HO/51KWH01R-Y-01

40210-WL000 
40210-WL020 － D NISSAN ELGRAND (E51) F 51 89 55 27.5 5 5 － － － 15.5 19.5 112 － － － － 4 Yes encoder 1.73 

KWH ZA-/HO/52KWH01-Y--01 3885A014 － D MITSUBISHI PAJERO (BK, Long body, 17 inch brake) F 52 91 53 26.5 6 6 － － － 12 27 121 － － － － 4 Yes － 1.80 

KWH

ZA-54KWH01B-Y-2-JB01 (old) 
ZA-54KWH01J-Y-2CA-01 (old) 
ZA-54KWH01M-Y-2CA-01
ZA-54KWH01R-Y-2CA-01

43570-60020 
43570-60021 

43570-04011( USA)

43570-60010 
43570-60011

D TOYOTA

FJ CRUISER (GSJ15W), HILUX SURF (KDN215, 
RZN210, 215, TRN210, 215, VZN210, 215, GRN215), 
LANDCRUISER PRADO (RZJ120, 125, TRJ120, 
121, 150, KDJ120, 121, 125, GRJ120, 121, 150, 
151, VZJ120, 121, 125), LEXUS GX (2002-2009), US 
TACOMA (Model year is unknown.)

F 54 96 50.9 25.5 3.5 3.5 － － － 14 16.1 132 － － － － 4 Yes encoder 2.00 

KWH ZA-54KWH02D-Y-2CA-01 43560-26010 － D TOYOTA

HIACE/REGIUSACE (KDH20#, 211, 22#, TRH200, 
21#, 221, 223, 224, 226, 228 ), SUPER GRANDIA 
(KDH201V/K, KDH206V/K), QUANTUM (Mdel year is 
unknown.)

F 54 90 59 29.5 3.5 3.5 － － － 15 25.3 120 － － － － 4 Yes － 2.00 

*1) F : Front Wheel  *2) R : Rear Wheel *3) N2 : No. of outer ring flange holes

BWK Type For non-driven Wheels BWK Type For driven Wheels BWK Type For driven/non-driven Wheels

Type CType A Type B Type D

*1) *2) *3) 

Classification by bearing type and NSK P/N

98



Type BType A Type C Type D

BEARING
TYPE NSK No. ORIGINAL

No.-1
ORIGINAL

No.-2
Dra-
wing
Type

MAKER MODEL / TYPE (Information) POSITION BOUNDARY DIMENSIONS (mm) N1 N2 SEAL 
INTEGRAL

TYPE
ABS

SENSOR
MASS 
(kg)

(approx)d dc Dw Db Pb M Df D Pt T Bi Bf  Bt

BWKH ZA-62BWKH01E-Y--01 E 6 776 671 － A BMW MINI (R50 (M14*1.25), R56, R57) F 26 50 56 64 100 4-M14*1.25 137.5 81 102 11.4 19 44 70 － 4 yes Encoder －

BWKH ZA-57BWKH04E2-Y-01 E 5Q0 407 621 B － A VOLKSWAGEN MQB1 (Car name is unknown.) F 28.575 51.5 57 65 112 5-M14*1.5 136.5 80 102 11 19 48 84 － 3 yes Encoder －

BWKH ZA-60BWKH15A-Y--01 E 5Q0 407 621 A － A VOLKSWAGEN MQB2 (Car name is unknown.) F 28.575 51.5 57 65 112 5-M14*1.5 136.5 81.5 107 12.6 19 48 84 － 3 yes Encoder －

BWKH ZA-60BWKH07R3-Y-01 E
1KO 407 621C [EU]
1KO 407 621G [US]
1KO 407 621  [CHINA]

－ A VOLKSWAGEN

PQ35/PQ36 (4WD)
 AUDI : A3, TT
 SEAT : ALTEA, ALTEA XL, LEON, TOLEDO
 SKODA : OCTAVIA, SUPERB, YETI
 VW : �CADDY VAN, GOLF, GOLF PLUS, 

SCIROCCO, TOURAN

R 28.575 51.5 57 65 112 5-M14*1.5 136.5 81.5 107 11 19 48 84 － 4 yes Encoder －

BWKH ZA-57BWKH04D1-Y-01 E 1K0 407 621E － A VOLKSWAGEN

PQ35/PQ36 (FF)
(For All until 1,9 l Diesel and < 77kw)
 AUDI : A3, TT
 SEAT : ALTEA, ALTEA XL, LEON, TOLEDO
 SKODA : OCTAVIA, SUPERB, YETI
 VW : �CADDY VAN, GOLF, GOLF PLUS, 

SCIROCCO

F 28.575 51.5 57 65 112 5-M14*1.5 136.5 80 102 11 19 48 84 － 3 yes Encoder －

BWKH ZA-60BWKH07R3-Y-01 E
1KO 407 621C [EU]
1KO 407 621G [US]
1KO 407 621  [CHINA]

－ A VOLKSWAGEN

PQ35/PQ36 (For All > 77kw)
 AUDI : A3 , TT
 SEAT : ALTEA, ALTEA XL, LEON, TOLEDO
 SKODA : OCTAVIA, SUPERB, YETI
 VW : �CADDY VAN, GOLF, GOLF PLUS, 

SCIROCCO, TOURAN

F 28.575 51.5 57 65 112 5-M14*1.5 136.5 81.5 107 11 19 48 84 － 4 yes Encoder －

BWKH ZA-60BWKH06L-Y-01  F 02042L2235 － B GM

SATURN VUE (Less ABS) 
(Model year is unknown.)
CHEVY EQUINOX (Less ABS)
(Model year is unknown.)

R 25.4 － 70.1 70.6 115 － 150 79 (100.6) 10 20 65 102.6 5 4 yes Non －

BWKH ZA-68BWKH02D-Y-01  F 02042K2078 － B GM

SATURN VUE (Less ABS)
(Model year is unknown.)
CHEVY EQUINOX (Less ABS)
(Model year is unknown.)

F 34.29 － 70.1 70.6 115 － 150 91.25 116 10 20 42.06 96.01 5 3 yes Non －

BWKH ZA-56BWKH06J-Y--01 E
1401393280
1440088280 － C PSA

JUMPY (G9, DISK BRAKE)
EXPERT (G9, DISK BRAKE)

R － － 65 71 108 5-M12*1.25 128 75.77 98 13 17 107 153.6 － 4 Yes Encoder －

BWKH ZA-56BWKH05D-Y--01 E
1400199280
1401393480 － C PSA

JUMPY (G9, DRUM BRAKE)
EXPERT (G9, DRUM BRAKE)

R － － 65 71 108 5-M12*1.25 128 75.77 98 13 17 104.7 151.3 － 4 Yes Encoder －

BWKH ZA-49BWKH22B-Y--01 E 6 756 830 － C BMW MINI (R50, M12*1.5) R － － 56 64 100 4-M12*1.5 137.5 74 93 11.8 19 56.5 87.8 － 4 yes Encoder －

BWKHS ZA-60BWKHS01L-Y-01 F 02042L2234 － B GM

SATURN VUE (With ABS)
(Model year is unknown.)
CHEVY EQUINOX (With ABS)
(Model year is unknown.)

R 25.4 － 70.1 70.6 115 － 150 79 (100.6) 10 20 65 102.6 5 4 yes Sensor －

BWKHS ZA-68BWKHS01E-Y-01 F
0204292072
02042K2077 － B GM

SATURN VUE (With ABS)
(Model year is unknown.)
CHEVY EQUINOX (With ABS)
(Model year is unknown.)

F 34.29 － 70.1 70.6 115 － 150 91.25 116 10 20 42.06 96.01 5 3 no Sensor －

*1) F : Front Wheel  *2) R : Rear Wheel  *3) N1 : No. of flanged inner ring hub bolts  *4) N2 : No. of outer ring flange tapped holes

*1) *2) *3) *4) 

Classification by bearing type and NSK P/N

1110

BWKH type for driven/non-driven Wheels




